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HL=|A2| 7=

- AtR|Ale] He
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| AIst
— URu2|8 2MAtE 2 X[ (accounting)

23| Al
(financial
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o 4, HZ 27t HAIM

H7k=|AIL| 71 =

. AZYUTL AL
S AR = AWM + YD + HZZUH| + HDE
~ AR = 7| ZADY + LI|HYY - 7| LR DA

=1 IL = =1 IL (m] =1 IL
- AEE =712 5= - 7|Z2AS=
| XIEHEH|
_ ZRIAML_OH| = L-O
A E LT = 7| 1. 7= MDY 20,000
(B7] A, 21 == 2 7| = oHo 70,000
af 2| T1CH
_ Z_"iyd_lz:.l”:ll — ?:ll-yl'}c\;?ﬂl-ul + ;ﬂ7|.u. 3. 7|2 Ex=xool (10,000) 80,000
0;{|EAH| + LHL_|-I:II-|:|| Il =2 150,000
(Y7] A&, 2|2 2= I, MIZZHEH]
1. Z7takzid| 50,000
2. = MFXH| 25,000
(°) Al ,
° Z1|}-".;-I7 |' 71|ﬂ'9-| EE‘.ﬂ 3. = 15,000 90,000
IV, &7] EME7t 320,000
V. 7|E MEEIH0H 10,000
gt A 330,000
VI 7| MBS Ao (32,000)
VIL 7] M=} 298,000
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HZHIIEE
= A-100 A-200 A-300 A
214721 2 H| () 300,000 300,000 400,000 1.000,000
2124 L D H| (L) 500,000 300,000 800,000 1,600,000
1ML A|ZHA|ZH 1.250 750 2.000 4.000
7| A A|ZHA|ZH 1.400 1.200 2.400 5.000
A2 7HEB|(H) 2.000,000
M| 27t4d| 2=
7|2 H|AtELEH HiE=
S =12] H|Z7HHH] J 2AH 2.000,000 / 1,600,000 = 1.25(&)
2K S A|7F H|Z7HH| /) 2 S A|7E 2. 000,000 / 4,000 = 500(&/A|ZH)
7| AIAZE AlZZHEH]| [ 7|1 AH A 2.000,000 / 5,000 = 400(&/A|ZH
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H7k=|AIL| 71 =

C AR AL
- AR 7|E

2 A-100 A-200 A-300 A
SERTELTTICN 300,000 300,000 400,000 1,000,000
231 2| (2) 500,000 300,000 800,000 1,600,000
H|ZZHHI(R) 625,000 375,000 1,000,000 2,000,000
SAI(2) 1,425,000 975,000 2,200,000 4,600,000
- 2BLIH 7|=E
g A-100 A-200 A-300 A
EESPYELTIC) 300,000 300,000 400,000 1,000,000
2135 24| () 500,000 300,000 800,000 1,600,000
A Z22HH () 625,000 375,000 1,000,000 2,000,000
BAI(R) 1,425,000 975,000 2,200,000 4,600,000
- 71A4ARE7IE
2 A-100 A-200 A-300 A
22| () 300,000 300,000 400,000 1,000,000
23 24| () 500,000 300,000 800,000 1,600,000
A2 7HHI (%) 560,000 480,000 960,000 2,000,000

A () 1,425,000 975,000 2,200,000 4,600,000
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53 2. 717 |8l 2.7 27} (2/5)

eyt

S8 A7} Al ol =& 72 80,0009 /E+2)]
- LAIF A9 7| 2HE J|CH Oh=FH 2.000 tte)
22 0/9s 10%
=4 St 170,000,000

S8 U7t AN

Ctolgt 2E9I7F  80,000-8,000 = 72,0009

CHO| o 2947} 170,000,000+2,000 = 85,000
Co|ct oIl 4zt 280 85000-72,000 = 13,0009
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2. 9717|813t 28 247} (3/5)

9.3
2tz
. I3
~ TS 7|2 0 8510] SRAUTIE AHSHD SA0) ZUD MESS HE57| ot
(I)_l.
— JRXIB0) O|RElE J|H: HA, BEZE, W7t BE 7Y, A2 A S
. TpxIBate| B
~ B 1 : SE(to-be)B7tet B (as-is) HL| £
WIHBFIO HE  SEAINS)  HHAINS) 30|
A-He 3.60 5.00 1.40
2SA L AR 36.90 50.00 13.10ﬁ Vg a2 A
Troj 18.00 23.00 5.00
AMB|A A 9.00 10.00 1.00
Yot 7| 22.50 26.00 3.50
Al 90.00 114.00 24.00
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2. 9477|212t S8 27} (4/5)

- kzEEe| A (%)

CH| 2 : 258 AT AI7[t/dd|E A4 (DA 2 A2Hd| 24 32)
o oo =
e Z0H($) H|-2 (%)
CEX 9 18
£52 2 4
2E 3 3 6
TE 4 9 18
=5 4 8
$% 6 23 46
A 50 100
— CHA 3: B8 dUd S22 Z4 (AHPRI 20| E7I "It sS &8
B =) B3 HEY BIg BE6  AMIAH ZQE
el ZlsA 8% 4% 4% 4% 20%
Atgol me| A 3% 5% 8% 16%
7159 AlEA 2% 1% 2% 3% 8%
AjH 25 18% 21% 4% 22% 7% 28% 100%
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53 2, 717 |l 2.7 27} (5/5)

PRI

- 7tz|S5ske| ThA| (A1)
— CA| 4: 7}x| 28t CAF 2l shzo| AHA
* 7[2| 2|4 (VI: Value Index) ATHH 2T [ ATHA Y718
VI =) A7t 24 Uid 35
VI> 1 =) 87} 7127} 2 BES 2 §ligt £E0o| 7|52 Sl Z3tsict,

O+l

SE ARHHIR%)  AUHERE(%) IS o
CEY 18 18 1.0 -

T 2 4 21 5.25 IS Oj= 245t
TS 3 6 g 0.67 A7} ChE 7t
T5 4 18 22 1.22 IS 245}
TS5 8 7 0.875 o7} &2t
756 46 28 0.61 QU7 = 2t
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AN =

= 2= (gctivit 2 7Hcost HH| BE
1 T2 (unit) =& &= 2| & H] NE d4F5E= A
A

2 F2(batch) &= &= 7| A AH| 4| Hi
g Batcho| 37|2
=50|s H|E Lt5=01 AlAF
AAH|E

3 A =22l (product line) && F0f H|E ctQlo| dArzFo

2 i g =l E R 2 L0 Al
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«  ABCO| Gj|A]
- AlE dE
A= e FZ(4Lh el HZbA A
A MTS A= 10,000 200,000
B ATO A& 150 50,000
C MTO A= 10 10,000
— AL 3t
HEH {74 (=8| 7|F) ABC A7tAILE (At b Z4=F)
1S Al =H| 24| ZtH| Al A =H| =24 ZtH| A
A 6,000 2,000 11,000 19,000 6,000 2,000 6,000 14,000
B 7,000 2,000 11,000 20,000 7,000 2,000 12,000 21,000
C 9,000 4,000 22,000 35,000 9,000 4,000 87,000 100,000
— AIAI-Z'l
- AT UL SH(A AIZ): ABC 480 w2t 2EH| H|F Z44 )3
« CIES AN S (CHIE): ABC 480 w2} ZHYH| H|F S7|
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Aol ¢t = o oSt x AAHEHF (%)
Aol ¢t = Gl YOS x TIT H7HR|(E/TH4])
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